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I Parameters of liability for 1 killing a slave
a Y™ if he kills unintentionally — exempt from payment of 30 as per sequencing of v. 1 — only if Ypo> 10 is there mwHw
b (corollary) na: if an ox kills a freeman unintentionally — no 7191 as per sequencing of v. 1 — only if Ypo> 1wn is there 191
i Challenge (»aN): ruling that if someone admits that his ox killed (person or animal) — liable
1 Meaning: payment of 1913 (i.e. even when ox isn’t killed)
2 Answer: means o'nT
(a) Challenge: end of ruling — if he admits that his ox killed an 72y, exempt — but if it's 007, why the exemption?
(i) Answer: (could’ve answered vip 890,07 RWM, but that’s a stretch, so...); both are om7
1. In re: pn 13, that if he were to admit, he would pay 1913 (if there was testimony to the killing but no
clarity if 7»1m/0n and he admitted that it was Ty, he’d pay 1913), he pays mxy 9"y DonT
2. In re: 12y, that if he were to admit it, he would not pay 1913 (03p) — he doesn’t pay mxy 8" on7
(if) Challenge (pny’ 73 58w *7): ruling that Tay::11n 12 for both (o'n7) 1913 and nnn
1. Answer (either himself or 737): means: VIP::1M3 (with intent); DnT::0N7T (without intent) (all — with or1y)
2. Challenge (827): if so, unintentional W& should also be liable for nn7
a. Note: X171 knows that there is no liability:
b.  Possible source: ruling that if someone lights a v»13 and an 72y is tied to — exempt —
i.  Rejection: that's due to n"a5p, as he lit the body of the slave
c.  Rather: from Rn»9a that contrasts M12/vR, that R pays only for 1% 87, omitting nasa ®HY
i.  Rejection: perhaps the ®in didn’t list all distinctions (17791 Ran)
d. Rather: 811 posed the question himself
i.  Argument con:since 1 pays 1912 (if intentional), liability for o'nT (unintentional) — not wx
ii. Argument pro: since 1 pays n’n7 (unintentional), same for WX —pn
c My 399 DR (v. 3) extends to unintentional death (contra nav)
i Challenge (7aN): if so, v. 1 should also extend to unintentional killing of slave (contra 5™)
1 Answer: indeed, 13nv 1 interprets 712y DR that way;
2 However: 5" distinguishes — key phrase in v. 1 isn’t written in re: pm5wn, key phrase in v. 3 is
II  Analysis of next clause in mwn — liable for 1913 when killing children as well as adults (v. 4)
a  Challenges:
i Justas there is no distinction when a person hurts an adult or a child, similarly when an animal attacks
ii 1p —inre: interpersonal violence, we distinguish between 0'%111/D%10p as actors, but not as victims
1 Then: certainly in re: attacks by 11, where we don’t distinguish between 5113/0%19p as actors, no diff. as victims
iii ~Answer: interpersonal attacks carry 5 types of payment, unlike o181 1 - text needs to explicitly equate m9a:: 000D
1 Note: this only teaches parity in re: 1"191n; how do we know that the same applies to nnn?
(a) Answer: since we don’t distinguish between wR::nWR in re: n9’po, same parity applies to nay 1a
(b) Additionally: v'p; if adults, who are liable for ppm, all generate liability if killed; certainly onvp (who are
always exempt) generate liability upon their death.
(c) Challenge: we don’t use v'p to be stringent on the Yp (on)
(d) Additional challenge: the v"p can be challenged, since adults are nnxn 72
(i) Ergo: text states m» na R Ny 12 1R — equating them for Ty oM, for injury and death.
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